
■令和元年度　動荷重検査（計量精度）
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■細骨材②

個数= 174

MAX= 1.2        

MIN= -1.2

AVE= -0.05    

STD= 0.31
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個数= 174

MAX= 2.5

MIN= -1.5

AVE= -0.01

STD= 0.60

個数= 138

MAX= 2.0

MIN= -2.6

AVE= -0.11    

STD= 0.60

許容範囲±1％ 許容範囲±1％

許容範囲±3％ 許容範囲±3％
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■混和剤②

個数= 174

MAX= 2.4

MIN= -2.8

AVE= -0.03

STD= 0.60

個数= 158

MAX= 2.7

MIN= -2.4     

AVE= 0.03

STD= 0.81
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■粗骨材②

個数= 140

MAX= 2.0

MIN= -2.5     

AVE= -0.12

STD= 0.65

許容範囲±3％
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個数= 174

MAX= 2.3

MIN= -2.3

AVE= -0.11       

STD= 0.65  
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■細骨材③

個数= 37

MAX= 1.8

MIN= -1.7

AVE= -0.20

STD= 0.71 

許容範囲±3％
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■粗骨材③

個数= 22

MAX= 1.1   

MIN= -1.3

AVE= -0.18    

STD= 0.61  

許容範囲±3％


